5.2e-03
0.1454
s}
(0]
S,
=
35
x
>
=0.115g o
© B
.Q
©
x
O] -
3 1.7e-03
0.07 5.7e-04
| &:38:88
333.36 . 333.33 333.29
Galactic longitude [ [deg]
WISE 22/m
’LL 0.04
0.148
e}
S5
= 0.03
S
x
= o
Z0.115g £
T 3
.Q
g
© 0.02
O]
0.02
0.07 o
0.01
333.36 . 333.33 333.29
Galactic longitude [ [deg]
MSX 14um
’u 0.34
0.148
D 0.13
S,
=
S
x
= (o}
© =)
.Q
©
©
3 0.05
0.01
0.06=
-0.01

333.37

0.145gg

9.1e-03

s}
(0]
ke
=
S
x
20113 g
E ]
.Q
©
O]
© 3.1e-03
O
0.078 1.1e-03
| 15284
333.36 . 333.33 333.29
Galactic longitude [ [deg]
MSX 8.m
SX 8.
0.14%=
—_ 0.13
(@]
(0]
ke
=
S
x
= o
S 3
.Q
g 0.07
O]
O]
0.04
0.062
0.02
333.37 . 333.33 333.29
Galactic longitude [ [deqg]
0.14=
s}
(0]
k=)
=
S
x
= a
S B
.Q
©
S
O]
O]
0.06%

333.29

333.37 . 33333
Galactic longitude I [deg]

0.145g

[deg]

0.11%2

Galactic latitude b

0.14g

[deg]

0.10g=

Galactic latitude b

WISE 12um

1.8e-02

1.1e-02

Jy/px

0.33

0.13

Jy/px

0.05

0.02

333.29



